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SET -1
Series : ONS/1 =% 64/1/1
Code No.
JeT . W T TSGR T g TS
Roll No. WA

Candidates must write the Code on
the title page of the answer-book.

FUAT S B o o T U0 | Gfgd g 8 ¥ 9 2 g A & |

-0 | e 819 &l 3R [TT T e TR Hl B IIW-JRAFH & J@-IL W o1 |

FIAT ST T A {6 T TA-TT H 22 Uo7 € |

FHUAT U HT IR o1 I Fe | Ugd, W9 T s avd forg |

T TR0 1 Ue o T 15 e o TR IS T § | 9RO 1 faeor gaed # 10.15
fopar ST 1 10.15 S ¥ 10.30 SN A% D AT FRE-UF H UG ST TH A & IR F
SRR T IS S el forat |

Please check that this question paper contains 8 printed pages and 2 pages of maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

e (AGTITh)

GEOGRAPHY (Theory)

e @aa : 3 gue SIfpaT 3w 70
Time allowed : 3 hours Maximum Marks : 70
|qraT 39T

() wo#H qemr22 &1

(i) @ goT stfara & 1

(iii) @t 7o & G 37 3 T T E |

(V) 797 9@ 1 @7 @& 3T o7g-STRIT J97 Uab-Uab 31 & & | Jedah 797 &7 3ov 40 rs51 @
3 g1 81T FET |
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v)

(vi)

7vT G&T 8 T 13 % GTg-3RIT J9T & | Hedeh g9 3 3% F1 & | §9H G UH goT STEIRT
v & | Jede 999 T 3T 80 & 100 5t @ 37frem 78l & Tew |

T &1 14 T 20 7 39 SR G99 & | gedH G977 F5 H & | FH @ Jedh G H
I 150 1=l & S 78l &1 Ry |

(vii) 7¥7 GEm 21 7 22 grEfaT Gt 5eT 5-5 37 & & S HEeT 77 78 g 7 i

TRIT 1 GBI, R oG 3T FrHieT #7 & Gied & |

(Viii) TG 37 YR 3 77 77 TG FH 9 STR-GIAHT & & T 37T Feel BT |

(ix)

Y@ HAT 17 & 7w @it arer @Rt & ga0T @1 SgEf 51 S &

General Instructions :

5.

64/1/1

(i)

(i1)
(i)
(iv)

v)

(vi)
(vii)

There are 22 questions in all.
All questions are compulsory.
Marks for each question are indicated against it.

Question numbers 1-7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

Question numbers 8-13 are short answer questions carrying 3 marks each. Out of
which one question is a value based question. Answer to each of these questions
should not exceed 80-100 words.

Question numbers 14-20 are long answer questions carrying 5 marks each. Answer
to each of these questions should not exceed 150 words.

Question numbers 21-22 are related to identification or locating and labelling of
geographical features on maps carrying 5 marks each.

(viii) Outline maps of the World and India provided to you must be attached within your

(ix)

answer-book.
Use of templates or stencils for drawing outline maps is allowed.

g T I STHEIT HHeA Sl T Hewaul Yo Fal 71 STl & 2 Teh HROT feliay | 1
Why is the age structure considered an important indicator of population
composition ? Give one reason.

“SH Td I S ST A R & HEweu et § 17 39 e gt § deh I | 1

“Leading a long and healthy life is an important aspect of human development.” Give
an argument to support the statement.

“HT AR B AAH TAT STHR H I & & 17 37 I Dl WG HINT | 1

“Agri-business farms are mechanized and large in size.” Examine the statement.

fava SR Ge (T.21.311.) o HRYUTEA il /G HiFT | 1
Examine the functioning of World Trade Organisation (WTO).

ST 2011 % SR, YRA o AT HERar g aret 99 1 AW Ay | 1
Name the state of India with highest literacy rate as per 2011 census.

2
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6. WRd % YT 9 W HIF T TG TRI-UTH -3765 & ? 1
Which major sea port on the eastern coast of India has a land locked harbour ?

7. 3SR H 9T & G99 92 T I 9F fafEy | 1

Name the state of India with largest area.

8. “UF R ATH MUY H IaHI Seerdl ¥ S U ¢ [ 3% UH-58 W 376 el {ohar S el
T 17 YA Sl I HINT | 3

“The nature and human beings are so intricately intertwined that they can’t be
separated.” Substantiate the statement.

9. ¥ fRU T g T AT HiIT R IHF A1 T T U971 & IR [Aray

Aﬂfs

unﬁwaw’iuﬁwr
(9.1) T 7T wrEoT S Ui St TE SHINTT 3R SHeR A feAfEu |
(9.2) &5 g TR & &1 H 9 UhR & oIl Uiaeyd 3@ i et & 2
(9.3) TH UPR & S UGET i Ueh Hewaqol faerdr feafan | 3x1=3

Study the diagram given below and answer the questions that follow :

Rural Settlement Pattern
(9.1) Identify and name the given rural settlement pattern.
(9.2) In which type of areas do we find such type of settlement patterns ?
(9.3) Give an important characteristic of this type of settlement pattern.
e ; F=TAiEd T Shae gieaTtaa giertemt & o ue 9@ 9 & ®H W e
(9.1)  “TTHITT SEA I16F I URHNI HioTT |
(9.2) TH T YR & &1 T YhivT et It & 2
(9.3) VHIUT STt Pl HewerquT Ueh fawivar fefan |
Note : The following questions are for the visually impaired candidates only in lieu
of Q. No.9:
(9.1) Define the term ‘rural settlement’.
(9.2) In which type of areas do we find dispersed settlements ?
(9.3) Give an important characteristic of dispersed settlements.
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10. 9 ST U A w1 3 i 3R 39k A ST T U9 % 3R fefEu

(10.1) =T 3@ H 4T T 301 G4 i TeaH HIT 3R 3G T4 faf@y |
(10.2) =7 T &A1 & A1 fAfaw STt g9 T & feTT igel S gAT-IRR i 3 d € |
(10.3) 39 I % o0 SToT 3MYfd & AT I Jooid RIS | 3x1=3

Study the following diagram and answer the questions that follow :

To Kolkata
250 Km

Manganese

R

* Steel Plant

@ Limestone

{r Iron Ore
Coal

memee Railway

(10.1) Identify and name the steel plant shown in this diagram.
(10.2) Name the mining fields which supply coal and limestone to this plant.
(10.3) Mention the source of water for this plant.
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e ; F=fafEd Te sae gieartaa whentemt & foau ue 9@ 10 $ &H WE

(10.1) SREUS TF | 0T ST Tehighd SEIT WA o A [oAhay |

(10.2) TE-3TTT 3TN | WIeRT {ohwal Q1 hed Aol & 19 feifaw |

(10.3) g SR ST SENT I STHRYA ST o & H FAT ST ST & 2

Note : The following questions are for the visually impaired candidates only in lieu
of Q. No. 10.

(10.1) Name the two integrated steel plants located in the state of Jharkhand.

(10.2) Name any two raw materials used in the iron and steel industry.

(10.3) Why is iron and steel industry known as basic industry ?

11, “9Rd o STRWRITT o1 o Bidl o STANT Bl W AT T i HT & 1”7 37 FoF B e
T | 3

“The promotion of the use of non-conventional sources of energy in India is the need
of the hour.” Support the statement.

12, “9Rd | MYHF TR § ¥ FE TH TR ST 99 | foohiad gu & 17 39 FI H Fi
HIT | 3

“Many of the modern towns in India were developed during the period of British
domination.” Substantiate the statement.

13. ‘AHa-sfd i fafay stavasdarstt & o TRE e ot gaeE & 9§ 3fed &1 9
STHRA FHAT AT I 37 Jeai i AT DT S FRIF START B GA1ET & €9 § agei
H eI & ohd § | 3
“The urban waste should be properly treated as a resource for various needs of
mankind.” Explain the values that can help in changing the urban waste into resources.

14. ‘SHifh®HT TH' T T MU € 2 “SHIhHE GHAU fHgT Hl diF STEne &l oo

HINT | 2+3=5
What is ‘demographic cycle’ ? Describe three stages of ‘demographic transition
theory’.

15. =t ofa T wfauee famgeT &1 Seoig R §U, FIotardl qERT SR s Ie7ee et
T 3R T T | 5x1=5
Differentiate between Nomadic herding and commercial livestock rearing, stating any
five points of distinction.
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16. ‘“wdA & T 37 € ? FAR H el 9R e ShUU I ¥l STy | 1+4=5
What is ‘tourism’ ? Analyse any four tourist attractions in the world.

17.  “T@&ST 3R UM S O Heworqol O FfEd A g e € S gt Y ufvedr fave, g4 &
{0 =R 9991 §RT 1 B Al & 17 T8 U % e T 39 ST T8 ol Sh Hewel T
FHITT | 2%+ 2% =5
“The Suez and the Panama canals are two vital man-made navigation canals which serve
as gateways of commerce for both the eastern and western worlds.” In the light of this
statement explain the economic significance of these two canals.

18. 9RA H qoul 3R & % Tar % HRT S-S T €, T HINT | Yo h TG
IROTHT 1 SeeiE HITT | 2+3=5
Explain why the causes of male and female migration are different in India. Find out the
environmental consequences of migration.

19. “ AT AHEA’ T HOWRIAT AR HO D T TN § |7 3 IS % T &
ToTT 3UTr G 3HX 3! AT HINT | 2+3=5
“ *Erratic monsoon’ and ‘Indebtedness’ are the major problems of Indian agriculture.”
Suggest and explain the measures to overcome these problems.

20. WRA § T I fIeRor TOET 1 TEl € 7 SIER0N led SHRST BT | 5x1=5
Why is the distribution of roads not uniform in India ? Explain with examples.

21. WER % QU T ToHifde {WE-AEtes | 9t Wimiiaes &7 A, B, C, D 3R E % g7 33T T
€ | T N B A S TE STHHRI I Terdl § gy 3R 3% T8l 919 39 [ehe @i
TE Y@ret W fefau 5x1=5
(A) TR H a9 HH SH-g- ATl 397
(B) wIoTaTH! UREROT TG &

(C) wIE TR
(D) ST gamE-Ia
(E) @ fEer
64/1/1 6
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22.

Five Geographical features shown on the given political outline map of the World as A,
B, C, D and E. Identify these features with the help of the information given below and
write their correct names on the lines marked near them :

(A) The country with lowest density of population in Asia.

(B) An area of nomadic herding.

(C) A major sea port.

(D) An Internatinal airport

(E) A mega city

e ; =TT Te hae gieaTtad wertedt & o ue 9@ 21 & ©H WE
(21.1) TR W GE9 HH SHEEAT gt <97 H A1 @y |
(21.2) TR | TETETH TYERUT & HETol &3 1 A1 fetay |
(21.3) 3T R [HHl Th TE FHRI-UT 1 AW foAf@u |
(21.4) TSieT & fohdt U STRTSEId aTg-ai 1 19 fef@ |
(21.5) I & fopdt wek B et &1 AW fafEn |

Note : The following questions are for the Visually impaired candidates only in lieu of
Q.No.21:

(21.1) Name the country with smallest population in Asia.
(21.2) Name an important area of normadic herding in Africa.
(21.3) Name any major seaport in North America.

(21.4) Name any one international airport of Brazil.

(21.5) Name any one mega city of Europe.

WRA & 3T T oI Y@T-THras § fFefatad o fefd suge et @ emey 3 s
Y fefEn 5x1 =5
(i) HaiTe SH-g9 a1t T5F (2011) |

(i) T FT UHOT STHIEAT AT T |

(iii) TR - e 3TI%h WA & |
(iv) AT 5T § ot I HREFT |

(V) HISY Y {e1-AUSH & e |
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Locate and label the following on the given poltical outline map of India with
appropriate symbols.

(i)  The state having the highest density of population (2011).
(if)  The state with smallest rural population.

(iii) Mayurbhanj — an iron ore mining area.

(iv) An oil refinery in Karnataka state.

(v) The headquarter of South Central Railway Zone.

e ; TG U9 hael gieaTad uRertedt & o ue 9@ 22 & ©H WE
(22.1) &HFcT T T T R T ST §T T BT T & ?

(22.2) TS FHH UTHIOT SHEE a6t A5 T A1 [@REw |

(22.3) TITHT TlE-37h &7 e ToF H Fere & 9

(22.4) HICTE A W HREHT fhg T § ferd & 2

(22.5) =Y TIA {A-HUSHA & A 1 AW Ar@y |

Note : The following questions are for the Visually impaired candidates only in lieu
of Q.No. 22 :

(22.1) Which is the largest state of India in respect of area ?
(22.2) Name the state having smallest rural population.

(22.3) In which state is Mayurbhanj iron ore mining area located ?
(22.4) In which state is Mangaluru oil refinery located ?

(22.5) Name the headquarter of South Central Railway Zone.
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Map for Q. No. 22
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